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INSTRUCTIONS TO CANDIDATE

1. The Question-bocklet contains 100 objective type questions. The candidates must
attempt all the questions. There is no negative marking.
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2. No Second Question-booklet OR Answer Sheet will be given to the candidate under
any circeumstances whatsoever.
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3. The candidate within 10 minutes of the issue of Question-booklet, will check up and
ensure that'it containg all the pages and no page is missing. In case of missing page(s|,

the candidate should report to the Invigilator and get it changed other for a complete
Question-booklet.
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10,

11.

12,

The c:;mcii»_date will write Roll Number only on the Cover Page and on the Answer Sheet of
the Question-bogklet at the places provided lor the purpose and nowhere else, otherwise
the candidate will he disqualified 1n the Entrance Test.
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Do not write your Roll No. OR Name inside the Question-booklet.
FoT-GIRaTdr % of=v aygey T FEar HgPAw T RE |

There shall be no erasing or overwntug in the answers given on the Answer Sheet,
in which case such answers shall be deemed as incorrect.
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Use of log tables or calculators 1s noet permitied.
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No candidate will be permitted to enter the Examination Hall ai’l;r the expury
of 30 mminutes from the commencement of the Entrance Test.
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No candidate will be permitted to leave the Examination Hall until the expiry of
two hours from the commencement of the Entrance Test.
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Candidate will not bring any loose paper, whether written or blank, inside the
Examination Hall excent the Admit Card.
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Candidates using any kind of unfair means OR attempting to cause disturbances in the
Examination Hall shall be liable to be expelled from the Examination and his/her

performance in the Test wall be cancelled.
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Candidates are required to deposit the only OMR Answer Sheet at the close of the
Lxamination.
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SCHOOL ENTRANCE TEST, 2017

CLASS : IX
Rl IX
Time : Two Hours | [ Maximum Marks : 100
o9 ;3 gee] [ guif% : 100
IMPORTANT

| Read carefully the Instruction for Answering’ given on the
| Answer Sheet and answer the questions ds directed :

Wwwﬁqw‘aﬁraﬁﬁﬁ#%@?ﬂaﬁfm#

1. ‘g9 + a9’ =t afg § == 3977
(1) @@= (2] T&TH= (3} w@fe= (4) GemdiT

2. Pl & § F-a1 oF waT 4o e B Ak F G 2
(1) el FmmE & == @ 2
(2) ST S EE A A A gen
(3} I= Iu==m T9 e
(4) I et TE fereh
{3) P.T.O
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3.

‘gfersr’ frg sres &1 ggimaEl § 7
(1) &=a &

(3) o1 =

e & & gl ¥

(1) s

(3) oW

‘gagy § e wfa g 7
(1} = "feer

(3) gy Efeer

‘m! T FEATIO] EA B

(1) sl (2) dig

‘qrfifess’ ot © @A B o

(1) % (2 T

(2)

(4)

(2)

(4)

(2)

(3)

qE =l

Tl =hl

1

o1 Hi g

gfa A~

FIeE

EST

(4) @S

(4) <5
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11.

12,
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‘gur g AT e e Ryt & 7

(1) SreFsr gprt s (2) TrETEe wgad

(3) Aferfrerer = (4) THuT fHe ‘Rewr

T = B e B

(1) = (2) T (3) ST (4) Frad

YO OO B e gA A, A & o @ o G - 39 i §

BIT-Gl FARC & ?

(1) a5F (2) o9 (3) otfosrenfaa (4) Suam

Lightning conductors are used to protect from the effect of :
(1) Rain (2) Storm (3) Lightning (4) Flood
AT = B g & qend & Rig agee B ¥ 7

(1) af () TE @) T 4 =@

Which of the following planets is nearest to the Sun ?

(1) Neptune (2) Jupiter (3) Mercury (4] Pluio
Fry & @ dvan e g & aiioe § 7

(1) F=g= () gewfr  (3) ay (4) =ger

{5) P.T.Q
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13. In a Braille system there are :

14.

{1 26 characters (2) 36 characters
(3} 63 characters (4) 5 characters

soT TG H g

(1) 26 ¥1&7 B & (2) 36 3T BT &
(3) 63 e B B (4) 5 AT éfra g

A coating of zinc is deposited on iromn ;

(1) to protect it from corrosion and formation of rust
(2} to make it hard

(3] to make it brittle

(4) to make it drectile

A2 T A @ o 9t Serdl T ¥

(1) ﬁﬂ%ﬁﬁ%%ﬂﬂmﬂﬁ%wﬁ%m
(2] =& st T F g

B) T R T B R

(4) & HEE CEIE IR

(6)
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15. Loudness of sound depends on :
(1} Its amplitude (2) Frequency
(3] Wavelength (4] None of these
T & waerEr i s §
(1) 5% MM O (2) omgfy 9T
(3) T w . (3) T A FF =

16. In the figure shown, angle of incidence is :

incident ray reflected ray

VAV A S A O N A GV & iV S v 4V 5
(1) 30° (2) 60°

(3) 90° (4) Zero degree

T 19 foam § angas Hor ¥

60° :
amafae oy qyrEgiag e
I 7 e T S S B i i o
(1) 30° ' (2) 60°
(3) 90° (4) gra faait

(7) P.T.O
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17.

18.

Porters place on their heads a round piece of cloth because :

{1} Pressure on their head is increased by doing so

(2} Pressure on their head is reduced by doing so

(3] They decrease the area of clantact of the load with their head

(4] None of these

Fell AU 7 ox &g F e TE & T

(1) e 73 | a8 4T X &9 ag STl 2|

2y T F B e ¥ 9 9 °9T A ¥
Ay ¥ arr & g [T & TEe Seme " 8 |
(4) A § FE ==

A female has :

(1} Two X chromosomes

(2] One X and one Y chromosome
(3) Two Y chromosomes

(4] None of these

e HfEen o BT 8

(1) &1 X B (2) TeHh X 997 O Y srgrEn
(3) XY HEE (4) 3 q BE T
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19, Which of the following is not part of female reproductive organ ?

20.

21,

(1) Ovaries (2) Fallopian tubes
(3) Uterus (4§ Sperm duct
fr=1 |- S Afewrel @ SwH-dw #1 Wt @ R 7

(1) ofsmH (2) HET ggs

(3) ety : (4) -l

Cell wall is absent in :
(1) Plant cell (2) Animal cell
(3) Nucleus (4) None of these

HifsrErfalRy oo adr & -

(1) aeqry HifEprsd o (2} wroft Fiferesratt o

(3) =¥ 5 @) =98 & AL T8

Cork cells were first observed by :
1) Robert Hooke {2) Flemming

(3} Tyndall (4) Newton

(9)

P.T. 0O
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22.

23.

(1) =8 g% = (2) oRfET =R
(3] E=q zZm (4) =gad ary

In a candle flame, the outer zone of complete combustion, which

is blue is
(1) Moderately hot (2) The hottest

(3) The least hot (4} None of these

ush BiEdl # & #, gl se B oAEE &4, A A ® g 2

(1) =& a4 (2) waifvs ™
(3) , =g (4) & § Fg T

Which of the following is the least polluting fll..lﬁ‘l ?
(1) Petrol

(2] Diesel

(3) Coal

{4y CNG (Compressed Natural Gas)

(10)
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251
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fFr=1 & Si9-\1 gAad gguer e 9o g9 § 7
(1) 9

(2) €=

(3) =prEa

(4) Hlo o Sfto (WRfET s )

Which of the following is inexhaustible natural resource 7
(1) Cna; (2] Petroleum

(3) Natural gas (4) Sun light

P & & F-ar o9 ggfos e & 7

(1) =raer (2) Ssiferm

(3) wrEfe® e (4) T w1 S

Rusting of iron is due to :

(1) Oxidation (2) Reduction’
(3) Heat-treatment (4) Metallization
AE & JE @ FH g ¥ o

(1) offarfipor (2) Rezme

(3) e I (4) =TT
(11)

250 9 %



SET/17/19/IX/(ii)

26. Which of the following can be bealen into thin sheets ?
(1) Zinc | (2} Phosphorus
[3) Sulphur (4) Oxygen
Frer F @i9-ar gaell =Ee & =9 F e o g § 7
(1) =F& (2) wiepd

(3) g (4) At

27 Which of the following t}rpﬁ of waste is non—biudelgradablr: ?
(1) Peels of vegetable and fruits
(2) Paper
(3) Cotton cloth
(4) Plastic bags
fest & & @=-ar sfare amfsigea & 2
(1) "ierdt ud wat & e
(2)  =HITA
@)
(4) ITeEE ST

(12)
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29,

30,
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Tuberculosis is caused by microorganism :

(1) Virus (2) Bacteria
(3) Protozoa (4) None of these
(1) famry (2) siramy

(3) shEra (4) 379 & FE Tt

Fermentation was discovered by :

(1) Louis Pasteur (2) Alexander Fleming
(3) Edward Jenner (4) None of these
e (EHR) it @ feEs zra & T ?

(1) F& g | (2) TEEvET g
(3} wegE I 4) =% | i

A fertilizer is ;

(1) human waste and plant residues
(2} an inorganic salt

(3) which can be prepared in fields
(4} provides a lot of Humus to the soil

(13) P.T O
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31.

32,

usp IETEH 2

(1) THe 37giame g gaefa Eey
(2) UF IFAHEAE b9

3) = & AST & =eEr o g%

(4) et = qafa e=or UEe & &

A boat goes some distance in upstream in 6 hours and covers
the same distance in downstream in 4 hours. If the speed of stream
15 3 Km/hr, then the distance 1s ;

(1) 60 Km (2) 72 Km (3) 90 Km (4) 108 Km
T AT Fe gl grq & ufege 6 92 § Wi ¥ ofk @A gl &
qNT & el 4 HE H a9 T 31 g T % = 3 Fflo /6T
2, dg gz g‘fl g

(1) 60 e (2) 72 fenel (3) 90 fF (4) 108 fEf

A road roller takes 750 complete revolution to more once over
to level a road. If the diameter of road roller 1s 84 cm and length is

1 rn, then area of the road is :
(1) 396 m’ (2) 3960m? (3] 198 m’ (4) 1980 m?
Fral T A AW BT B [ oF #eF JaY B OHSE # W

Tﬁwgﬁﬁ%ﬁﬂll?SDfﬁﬂﬁmﬁqﬁ%Iﬂﬁmfm%
mﬁisuﬁﬁbﬁmlﬁrﬁ,?ﬁmﬂﬁﬁ%%: |

(1} 396 H’ () 39607  (3) 1987 4) 1980 i’

(14)
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35.

36.
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(1) a (2] —a (3) b (4] -b

Water is pouring into a cuboidal reservoir at the rate of 60 litres
per minute. If the volume of reservoir is 108 cubic meter, then
number of hours to fill the reservoir is : '

Th %S P X 60 offeY oy frie = «x & o Bie <1 2 3R
cﬁgﬂamaﬂmsa:rﬁro%ﬂaﬁgaﬁrnﬁﬁwﬁaﬁuﬁﬁ
e 8

(1) 18 (2) 180 (3) 30 (4] 300
The angles of a pentagon are x° o(x +20),(x+40}, (x + 60)° and
(x + 80)". The smallest angle of the pentagon is ;

UF GEYH & i X, (x4 20),(x +40)", (x + 60)° T (x+80) &
TIYT B AIE BT By B o

(1) 85° (2) 78° (3) 75° (4) 68°

On dividing 10.:: +17x ~62x2 + 30x - 3 by il P gives the
quotient.

10x* +17%% —62x2 4+ 30 - 3 & 2x” F7x -1 8§ 9FT 9 YT HATE
R E -

(1} 5x*-9x-3 (2) Sx?-9x+3
(8) 5x*+9x+3 (4) 5x*+9x -3

(15) P.T. O,
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37.

38.

39.

40.

The equation representing the y axis 1s :
y o781 R W AHERTI 8

(i) x=0 (2) y=0 (3) x=a 4 y=a

One card is drawn from a well-shuffled deck of 52 cards.

Calculate the probability that the card will be an acc

oTeh e @ S 8 52 TN & @6 TEl | s we Fresel S
%lﬁﬂ%gﬂﬂﬂﬁﬂﬁﬁﬁﬂ@ﬁﬂ?ﬂﬁﬁﬁﬂ%:

] . 12 1 . 5
= 2 3] - (4]
) 13 2) 13 (3) 4 4

The ratio of radii of two cylinders is 2 : 3 and the ratio of their
height is 5 : 3. The ratio of their volumes will be :

al ore adig et @1 famaret & AT 203 T Ay IE Sl
B AHNE 53| ITh AEEH B AT AR I

(1) 27:20 (2) 20:27 (3] 94 (4) 4:9

The base of a triangle is four times its height and its area is 50

square meter. The length of the base 1S ;
EF cSam (2) 10m (3y 15m (4} 20 m

o S @l ST g@H w6 Art T % ol @ 50 T Al
3 aarT i aErs B

(1 5 (2) 104 (3) 154 {4 207
(16)
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41, To complete a work, A takes 50% more time than B. I together

42,

43.

they takes 18 days to complete the work, then B takes the time to

co the work 1n :

(1) 30 days (2} 35 days (3) 40 days {(4) 45 days

Awwﬁg{rmﬁﬂﬁﬁaﬁwsovﬁwwmﬁr%mﬁ
2t U |y e o9 W @ O &3 § 18 &7 we §, 9 B
H3e I FE B OGN HW A oo qHG TRAT 7

(1) 30 = 2) 35 &= (3) 40 &= 4) 45 &=

6 pipes can fill a tank in 1 hour 24 minutes. 7 pipes can fill the
same tank in :

(1) 60 minutes (2] 66 minutes

(3] 72 minutes [f-!-}l 78 minutes

uh ¥ B 6 gEg 1 Her 24 [T § We g% £1 7 9Bd 34 ¥E A
I HHS &

(1) 60fFe & (2) 66 fisz ®
(3) 72 e A (4) 78 fime

The compound interest on ¥ 4,000 at 10% per annum for 2 years
3 months, compounded annually, will be :

¥ 4,000 %7 wehglas 91 2 99 3 HEM ® [0 10% &t 37 #, S9i
=S A H@9ifna Sar 8, 8o

(1) %961 (2) T916 (3) %900 (4) % 896

(17) P.T.O.
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44. A shopkeeper sells a book for ¥ 100, gaining ¥ 20. His gain percent

1%
(1) 20% (2) 22%
(3] 25% (4) None of these

U IDMER 41 uh o T 100 F F=H UX T 20 F ooy S E
(1) 20% (2) 22%

(3] 25% (4) &5 @ wig TE

45. The denominator of a rational number is greater than its

numerator by 8. If numerator is increased by 17 and denominator
is decreased by 1, the number obtained is % The rational number
15

U qfCHY HE &1 BT I oisT § 8 iy 21 4ft ajur A 17 A

3 .
ferr mapﬂaﬁlwﬁmmaaaﬁimﬁm g1 g8

gtEa H@ear §
11 17 15 13
1 19 (2) = (3] 53 (4) 21

(18)
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46. The present age of Sahil's mother is three times the present age of

47,

48.

49,

Sahil, After 5 vears their ages will add to 66 years. The present
age of Sahil is :

(1) 13 years {2) l4years (3) lSyears (4) 16 years

arfest & A i FdH oy AR = adw omg @ AW T B S
9§ =g IF NI H AY H AT 66 IU € ST | Hifed H FAHA

g ¥
(1) 1339 | (2) 14 =9 (3) 15 a9 (4} 16 a8

fa—b=7and ab=9, then a® +b? =
A a-b=7A ab=9,a7 a’+b° =

(1) 67 (2) 31 (3) 40 t4; 58

Which of the following number is not a perfect square ?
Rrferfe # - wear ©f o 7 E ?

(1) 961 (2) 1444 (3) 2222 (4) 3136

If(2°*14+10)+7=6, then x =

afE (29 +10)+7 =6, a9 x=

(1) -2 (2] 2 3 1 4 0

0



SET/17/19/IX/(ii)

I

50. What should be subtracted from sk to get % ?

o1,

52,

%Wﬂ?{ﬁ%ﬁm —%ﬁ%ﬂ'[mﬂmﬁ[?
| L 13 5 17
[ = 1_2 {2) - TE (3) - E (4} - E

Where the central office of the Reserve Bank of India is located ?
(1) Kolkata (2} Chennai (3] Mumbai {4) Delhi

Red de aits 2y o 359 Foiag ®&l & 7

(1) @@ (o) 3 @) gud (4) Fee

Who raised the slogan, "Frcedﬁm is my birth right and [ shall have
it."

(1) Lala Lajpat Rai (2) Bal Gangadhar Tilak

(3] Vipin Chandra Pal (4) Subhash Chandra Bose

as fRur 7

(1) S @9 e (2) & e fawrs
(3} famE == T (4) gAY TH A

53. Who is a Sarpanch ?

(1) Head of the Family (2) Head Master

(3) - Post Master (4) Head of the Village Panchayat
‘Pos

(20)
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57.
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gy B B P
(1) 9@ =1 yfEg (2) SEETEHGS
(3) ST W i (4) T dEmEd w1 giEar

Which city is called the pink city of India ?
(1) Jodhpur (2] Bikaner (3) Jaipur (4) Bhilwada
b Qre¥ @l W< =1 IENET ey ey S s ?

(1) Segy (2) =AY (3) sH9Y (4) weETST

What 1;3 the tenure of Indian President ?
[1) S years (2) 3 vears (3] 4 years (4) 6 years
wia B eyl @1 wrdere o Sar & 7

(1) 5@ (2) 3 = (3) 4 | (4) 6 @

What is the currency of Bangladesh ?

(1) Doilar {2) Dinar (3) Taka (4) Rubal
HiTIEST B AT 7 FA AH B 7

(1) S (2) dMR (3) <= (4) wad

Which is the brightest planet in our solar system ?

(1) Venus - (2) Mercury (3) Jupiter (4) Neptune
aﬁﬁiwwmﬁwaﬁw%cﬁ#m%?
(1) (2) 3o (3) I (4) F=g7

(21)
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58. Which Indian State has highest female sex ratio ?
(1} Uttar Pradesh (2} Kerala
(3] Mizoram (4) Punjab

Eﬁﬁwqﬁwﬁiﬂwm‘ﬂ%ﬁ;ﬂwﬁ%?

(1) =T8T udsar (2) I
(3) FrEme (4) TR

99. Where is Jim Corbett Wild Life Sanctuary located ?
{1} Odisha - (2} Goa
[3) Meghalaya . (4) Uttarakhand
5 Fide av g Aviareg &8 8 7
(1) =rdram (2) =T

(3) Hure (4) IWES

60. Bhakra dam is on which river ?
(1) Jhelum  (2) Sutlej (3) Ravi (4) Chenab
sl arg e Al ax a8 Y
(1) a&m (2) Eelero (3) T (4) e

(22)
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62.

63.

64.
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Who is called the Magician of Hockey ?

{1] Dhyan Chand (2) Milkha Singh
(3) Bishan Singh (4) Kapil Dev
gt 1 g fruent @er ST ® 7

(1} =rER (2) P fHE
(3) R e . (4) =fUa 29

When was East India Company established ?

(1) 1664 (2) 1600 (3) 1560 {4) 1700
$e dRar e W e w9 g v
(1) 1664 (2) 1600 (3) 1560 (4} 1700

Which game is .Japan's National Game ?

(1) Shooting {2) Judo (3) Football (4] Basketball

* SO & Y SO - 7

(1) oS (2) =1 (3) ea (4) SRHeHE

Where is the memorial of Mahatma Gandhi ?
(1} Veer Bhumi (2] Rajghat
(3] Shakti Sthal (4) Shantivan

(23) i ¥
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65,

66.

67.

68.

agien el ST st |y wEf & 7

(1) = s (2) UsTHETE

(3] TR e CIREIIGES!

Which day is celebrated as the World Environment day ?
(1} 10th Ociober (2) 1lst March

(31 5th June {4) 5th September

a9 gyatayer feem = wwv@T S B 7
(1) 10 e (2) 1=
(3) 534 (4y 5 RaET

Which country has the biggest area ?

(1} Russia {2) China (3) India {4)
" BT fEwE A 39 H 8 7
YIS (2) &= (3) @T (4)

Dadasaheb Phalke award is given in the field of :

1) Sports (2) Education (3) Literature (4)
TR B YT e A R s 7
(1) & (2) Taredm (3) @iied (4)

Brazil

1T

Cinema

EEGERT

The date when United Nations Organization was cstablished :

(1) 20th Decermnber (2) 24th October
(3) 2nd January (4) 10th August
(24)
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70.

Tk

2.
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HYRT I HY A O o fafr
(1) 20 R&E=1¢  (2) 24 erEe (3) 2 oEd (4} 10 s

Who was the first Woman Chief Minister of India ?

(1) Mayawati (2) Mamata Banerjee
(3) Jayalalitha ; {4} Sucheta Kriplani
T & 999 Afeen gertd @ o

(1) #mamEdh (2) HHAT S

(3) ST (4) gaar FuwH!
Who was the founder of Mughal dynasty ?

(1) Akbar (2) Humayun

(3} Babur (4} Chandragupta

T TSI B HEG9H i &1 ?
(1) Y 2) g (3) @Y (4) =T

Mark the wrongly spelt word :
(1) Luggage (2) Baggage (3) Enggage (4) Savage

He is like a snake in the grass for our family, The underlined
portion means ;-

(1) a close friend (2) a distant relative

(3) a stupid person (4) a hidden enemy

(25) P.T O
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73. 'The man was absorbed .............. his work.'
Use the most suitable preposition from the following :

11} at {2) with (3) in (4} into

74. Don't touch this.
The passive voice of the above sentence is
(1) You should not touch this.
(2} This doesn't be touched.
(3) This must not be touched.

(4} You don't touch this.

75. The word 'landmark’ means the same as !

(1} High place ({2) Marker (3] Hill top (4) Land lord

76. Choose the correctly spelt word !
(1] acummulate (2) exaggerate

|3) arbetrary [4) sicze

77. What is the verb of the word - HEAP ?

(1) Heave (2} Heap (3} Heapy (4) Heape
| (26)
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79.

80.

81.

82.
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Identify the figure of speech used in the sentence @ "He was as

brave as a lion.,"
(1) Metaphor (2) Hyperbole

(3] Personification. (4) Simile

What is the adjective of the word - EXCEPTION ?
(1) Except (2) Excepsional

{3) Exceptional (4) Exceptionally

Which of the following word is correctly spelt ?
(1) ‘Saccharin (2] Sakarin

(3) Sacharin (4} Saakrin

Fill in the blank to complete the idiom.
AS yOU SOW, SO ..ovvvvvevannnenn.
(I} You may reap {2) You may earn

(3) You shall earn {4) You shall reap

Which of the following is an interrogative pronoun ?

(1} Who (2) Some (3) Each (4] Her

(27) P.T.O
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83.

84,

85.

86.

87.

Fill in blank with suitable phrasal verh.
The computer always ..o i
{1} Breaks down (2} Breaks up

(3} Breaks in (4} Breaks off

What is the synonym of the word-PROSCRIPTION ?
(1} Restriction {2} Suggestion

(3} Allowance (4} Premonition

Fill in the blank with appropriate verb.

Sixteen miles ... a long walk.

{1) are (2} is (3} werc - (4] would
Which of the following sentence is in present perfect continuous
tense 7

(1) [ am just planning my strategy to play well.

(2) We were facing challenges.

(3] They shall be performing tomorrow by this time.

([4) We have been rehearsing the play since January, 2017.

Which of the fullowing is a declarative sentence ?
(1) You are clever. (2} Are you busy ?

(3) Be careful (4] How clever he is !

(28)
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Fill in the blank with appropriate preposition.
I have been studying in the school .................. the last five years.

(1) since (2) about (3) for (4) around

What is the plural of the word KNIFE ?

(1) Knive (2) Knives (3) Knaves (4] Knifes

Fill in the blank with appropriate article -

This is .................. unusual problem that the government should
fight out.
{1) the (2) a | (3) an (4) so

‘BH-FHAE T BH-HT SR T ?
(1) =% (2) Jqm (3) ol (4) IrIETH
‘IR g ofed, e oaeh gy g

T W F SR, A, 959, g
I 9T F Bi-ur e ¥ 7

(1) S uE (2) T8% (3) s (4) aenifeR
Ena:ﬁ = ygRETET &
(1) === (2) s @) w=e@ (4 PgH

(29) P.T.O.
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94. ty=iwfiga 7 8 S5 a1 us e 8¢ F THE & 7
(1) =g (2) wHI=
13" HABTY] [4} 371'& iﬁ 4“3?3 J21

95. ‘FE T A1 FHA F T - UH IIEI 8§
(1} HE=d = (2) @repifERm =
(3) ﬂnmzﬂ (4) SriRTE =B

96. ‘B UY & wWewr - gEa] & 7Y ¥
(1) <T¢ FEEm s (2) W | HREG B
(3) seat & wer IEAl (4) 7= B

97. Sl TEwen wfed A - H foU ok 6 e B o
(1) =™ (2) = (3) gm™ (4) frrim

98. ‘sEtdE’ @1 fa=m = B
(1) =rE= (2) (3) @M (4) HEAETI

99, T ¥ § Fe-a1 T FAHEl W= E 7
(1} @il (2) AT (3) STera (4) FH

100. ‘ﬁﬁr’aﬁa@wmﬁﬁwﬂwraﬁﬁmmm%mw

gaeTT B ?
(1) | (2) =1 A
(3] HgFT T (4) wHmards T
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